USE OF ENGLISH (PART 4) Key Word Transformation (4)

Complete the second sentence so that it has a similar meaning to the first
one. You must use between 2-5 words.

There are 2 marks for each correct answer.

25) You needn’t wear smart clothes at the party.
TO

You smart clothes at the party.

26) Maybe John was waiting for us at the airport.
BEEN

John for us at the airport.

27) There were three cinemas in my town, but now there is only one.
USED

There three cinemas in my town, but now there is only one.

28) | can’t speak German but I'd like to learn.
WISH

| German.

29) It’s easy to learn English if you live in the U.S.A.
IS
if you live in the U.S.A.

30) It rained so we didn’t go to the country.
WOuULD

If it hadn’t rained to the country.
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ANSWER KEY AND GRAMMAR ANALYSIS

25 You DO NOT HAVE/NEED TO WEAR smart clothes at the party.

NOTE! /tis not necessary = do not have to = do not need to

26 John MIGHT/MAY/COULD HAVE BEEN WAITING for us at the
airport.

Might/May/Could have been + verb in gerund.

27 There USED TO BE three cinemas in my town, but now there is only
one.

28 | WISH | COULD SPEAK German.

Wish + verb in past. | wish | had more money.

29 LEARNING ENGLISH IS EASY if you live in the U.S.A.
ITIS + ADJECTIVE + TO + VERB ITIS EASY + TO + LEARN
A verb at the beginning of a sentence is really a NOUN!!

Playing chess is difficult. Skiing is dangerous. Drinking beer is fun.
30 If it hadn’t rained WE WOULD HAVE GONE to the country.

This is the 3 Conditional. The correct formula’is:
IF + HAD PARTICIPLE, WOULD HAVE + PARTICIPLE
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